Consider & Theory with Zagrangian: $Z \phi^{4} = \int u^{2} \phi^{2} + \frac{\lambda}{41} \phi^{4}$ Zast time: $T_{R}^{(2)}(0,m^{2},q)=m^{2},$ $\frac{\partial}{\partial k^2} \left[\frac{\Gamma^{(\lambda)}}{R} \left(K, m^2, q \right) \right]_{K^2 = 0} = 1$ $\left. \prod_{k=0}^{(4)} \left(K_{i}, m^{2}, q \right) \right|_{K = 0} = 9$ Derivation: a) At one-loop: $T^{(\mu)} =$ Τ^{ια}) = From the first graph we get $m^{2} = m_{1}^{2} - \frac{\lambda}{2} \int \frac{l}{q^{2} + m^{2}}$ where we take my to be finite -> rewrite as : 1 $m^2 = m_1^2 - \frac{\lambda}{2} \left(\frac{1}{9^2 + m_1^2 + 66} \right)$ $= m_1^2 - \frac{\gamma}{2} \int_{1}^{1} \frac{1}{q^2 + m_1^2} + O(\lambda^2)$ (1)

The 4-point function up to ane-loop contains

$$K_{1} \qquad K_{2} \qquad K_{2} \qquad K_{1}^{k} + 2 \text{ permutations}$$

$$\longrightarrow T^{(4)}(K_{1}) = \lambda - \frac{\lambda^{2}}{2} \int \frac{1}{(q^{2} + m^{2})[(K_{1}+K_{2}-q)^{2}m^{2}]} \qquad (a)$$

$$+ 2 \text{ permutations}$$

$$\longrightarrow has ultraviolet logarithmic divergence
for $d \rightarrow 4$
No other vertex function has a UV divergence
(Recall $S = -nS_{1} + (d + E - \frac{1}{2}Ed), \text{ so for}$
 $S_{1} = 0$ and $d = E = 4$, we get $S = 0$, for $E > 4$
 S becomes negative and hence finite)
In (a) m^{2} can be replaced by m_{1}^{2} and the
difference is higher order:
 $T^{-(4)}(K_{1}) = \lambda - \frac{\lambda^{2}}{2} \int \frac{1}{(q^{2} + m^{2})[(K_{1}+K_{2}-q)^{2}+m^{2}]} + O(S^{3})$
Define "renormalized coupling constant":
 $\frac{g_{1}}{4!} = \frac{\lambda}{4!} - \frac{\lambda^{2}}{16} \int \frac{1}{(q^{2} + m^{2})^{2}}$$$

Using eq. (i), we can rewrite this as

$$n^{2} = m_{1}^{2} + \frac{q_{1}}{2} \int \frac{1}{q^{2} + m_{1}^{2}} + G(q_{1}^{2})$$
 (3)
 $\lambda = q_{1} + \frac{q_{1}}{2} q_{1}^{2} \int \frac{1}{(q^{2} + m_{1}^{2})^{2}} + O(q_{1}^{3})$
 \Rightarrow finite m_{1}^{2} and q_{1} imply infinite "bare"
parameters m^{2} and λ in $d=4$.
Equation (2) now becomes
 $T^{(4)}(K_{1}) = q_{1} - \frac{q_{1}^{2}}{2} \int \left[\frac{1}{(q^{2} + m_{1}^{2})[(K_{1} + K_{2} - q)^{2} + m_{1}^{2}]} - \frac{1}{(q + m_{1}^{2})^{2}} \right]$
 $+ 2$ permutations $+ O(q_{1}^{3})$
We see that $T^{(4)}(0) = q_{1}$ and $T^{(4)}(K_{1})$
is finite at $d=4$ (divergences in Λ cancel in
the difference, exercise)
 \Rightarrow choice of m_{1}^{2} and q_{1} is special:
fixed at zovo external momenta
b) A two-loop:
 K K t K $+$ K $+$ $+$ $+$

Now the renormalized mass with e
prescription
$$m_1^2 = T^{(2)}(k=0)$$
 becomes
 $m_1^2 = m^2 + \frac{\lambda}{2} D_1(m^2, \Lambda) - \frac{\lambda^2}{4} D_2(m^2, \Lambda) D_1(m^2, \Lambda)$
 $-\frac{\lambda^2}{6} D_3(0, m^2, \Lambda)$ (4)

where

$$D_{1}(m^{2},\Lambda) = \int \frac{1}{q^{2}+m^{2}}$$

$$D_{2}(m^{2},\Lambda) = \int \frac{1}{(q^{2}+m^{2})^{2}}$$

$$D_{3}(K_{1}m^{2},\Lambda) = \int \frac{1}{(q^{2}+m^{2})(q^{2}+m^{2})[(k-q_{1}-q_{2})^{2}+m^{2}]}$$

Xast two terms are of order 2 loops

$$\longrightarrow n^2$$
 can be replaced by m_i^2 in these
Rewrite D_i as:
 $D_i(n^2, \Lambda) = \int \frac{1}{q^2 + m_i^2 - \frac{\lambda}{2} D_i(m_i^2, \Lambda)}$

$$= \mathcal{D}_{1}(m^{2},\Lambda) + \frac{\lambda}{2} \mathcal{D}_{2}(m^{2},\Lambda) \mathcal{D}_{1}(m^{2},\Lambda)$$

So eq. (4) becomes $\mu^{2} = m_{1}^{2} - \frac{\lambda}{2} D_{1}(m_{1}^{2}, \Lambda) + \frac{\lambda^{2}}{6} D_{3}(0, m_{1}^{2}, \Lambda)$ $\longrightarrow \Gamma^{(2)}(K) = K^{2} + m_{1}^{2} - \frac{\lambda^{2}}{6} [D_{3}(K, m_{1}^{2}, \Lambda) - D_{3}(0, m_{1}^{2}, \Lambda)](5)$

-> has logarithmic divergence (evercise)
in d=4
Nowe come to
$$T^{(4)}(K_i)$$
:
 $T^{(4)}(K_i) = \lambda - \frac{\lambda^2}{2} \left[I(K_1 + K_2, m^2, \Lambda) + 2 \text{ permutations} \right]$
 $he completed + \frac{\lambda^3}{4} \left[T^2(K_1 + K_2, m^2, \Lambda) + 2 \text{ permutations} \right]$
 $he veplaced + \frac{\lambda^3}{4} \left[T_3(K_1 + K_2, m^2, \Lambda) + 2 \text{ permutations} \right]$
 $he veplaced + \frac{\lambda^3}{4} \left[T_3(K_1 + K_2, m^2, \Lambda) + 2 \text{ permutations} \right]$
 $he veplaced + \frac{\lambda^3}{4} \left[T_4(K_1, m^2, \Lambda) + 5 \text{ permutations} \right]$
 $he veplaced + \frac{\lambda^3}{2} \left[T_4(K_1, m^2, \Lambda) + 5 \text{ permutations} \right]$
where
 $I(K_1, m^2, \Lambda) = \int \frac{1}{(q^2 + m^2)[(K-q)^2 + m^2]}$
 $I_3(K_1, m^2, \Lambda) = \int \frac{1}{(q^2 + m^2)[(K_1 + K_2 - q_1)^2 + m^2]}$
 $I_4(K_{11}, m^2, \Lambda) = \int \frac{1}{(q^2 + m^2)[(K_1 + K_2 - q_1)^2 + m^2]}$
After mass renormalization, the fourth term

cancels and we get

$$T^{(4)}(K_i) = \lambda - \frac{\lambda^2}{2} \left[I(K_i + K_2, m_i^2, \Lambda) + 2 \text{ permutations} \right] \\ + \frac{\lambda^3}{4} \left[I^2(K_i + K_2, m_i^2, \Lambda) + 2 \text{ permutations} \right] \\ + \frac{\lambda^3}{2} \left[I_4(K_i, m_i^2, \Lambda) + 5 \text{ permutations} \right] (3)$$

$$\longrightarrow \text{ logarithmically divergent}$$

$$\longrightarrow \text{ introduce renarmalized coupling constant}$$

$$g_1 = \lambda - \frac{3}{2} \lambda^2 D_2 (m_1^2, \Lambda) + \frac{3}{4} \lambda^3 [D_2 (m_1^2, \Lambda)]^2$$

$$+ 3\lambda^3 \Gamma_4 (K_i = 0, m_i^2, \Lambda)$$

Inverting this gives :

$$\lambda = g_{1} + \frac{3}{2} g_{1}^{2} D_{1} (m_{1}^{2}, \Lambda) + \frac{15}{4} g_{1}^{3} [D_{1} (m_{1}^{2}, \Lambda)]^{2} - 3g_{1}^{3} I_{4} (k_{i}=0, m_{1}^{2}, \Lambda) + O(g_{1}^{4})$$

$$\rightarrow T^{(4)}(k_{i}) = g_{1} - \frac{1}{2} g_{1}^{2} ([I(k_{i}+k_{2}, m_{1}^{2}, \Lambda) - D_{2}(m_{1}^{2}, \Lambda)] + 2 \text{ permutations})$$

$$+ \frac{1}{4} g_{1}^{3} ([I(k_{i}+k_{2}, m_{1}^{2}, \Lambda) - D_{1}(m_{1}^{2}, \Lambda)]^{2} + 2 \text{ permutations})$$

$$+ \frac{1}{4} g_{1}^{3} ([I_{4} (k_{i}, m_{1}^{2}, \Lambda) - D_{2} (m_{1}^{2}, \Lambda)]^{2} + 2 \text{ permutations})$$

$$+ \frac{1}{4} g_{1}^{3} ([I_{4} (k_{i}, m_{1}^{2}, \Lambda) - D_{2} (m_{1}^{2}, \Lambda)]^{2} + 2 \text{ permutations})$$

$$+ \frac{1}{2} g_{1}^{3} ([I_{4} (k_{i}, m_{1}^{2}, \Lambda) - D_{2} (m_{1}^{2}, \Lambda) + 5 \text{ perm.}) (8)$$
Also rewrite $T^{(2)} (eq. (5))$ in terms of g_{1} :
$$T^{(2)} (k_{1} m_{1}^{2}, g_{1}) = k^{2} + m_{1}^{2} - \frac{g_{1}^{2}}{G} [D_{3} (k_{1} m_{1}^{2}, \Lambda) - D_{3} (O_{1} m_{1}^{2}, \Lambda)]$$

$$\rightarrow \text{diverges as } \ln \Lambda \text{ in } d=4$$

$$\rightarrow \text{introduce new two-point vertex}:$$

$$T_{R}^{(2)} = Z\phi(g_{1}, m_{1}, \Lambda) T^{(2)} (k_{1} m_{1}^{2}, \Lambda) (9)$$

where $Z_{\phi} = |+q_1 + q_2 + q_1^2 + q_2^2 + \cdots$ Thus : $\prod_{p=1}^{(2)} (K, m_1^2, \Lambda) = K^2 + m_1^2 (1 + g_1^2 + g_2)$ $-\frac{1}{6}g_{1}^{2}\left[D_{3}(k,m,^{2},\Lambda)-D_{3}(0,m,^{2},\Lambda)-6z_{2}k^{2}\right]$ (10a) (2, was set to zero) Using (exercise) $D_3(K,m,^2,\Lambda) = D_3(0,m^2,\Lambda) + \left(\frac{2}{\partial k^2}D_3(K,m,^2,\Lambda)\Big|_{k=0}\right)k^2$ + O(K4) ~ ~ ln 1 convergent we see that the prescription $Z_{2} = \frac{1}{6} \frac{\partial}{\partial K^{2}} D_{3}(K, m_{1}^{2}, \Lambda) \Big|_{K=0}$ (106) gets rid of the divergence in Dz. But now our mass is divergent $m^2 = 2 \phi m_1^2 \approx m_1^2 (|+q_1^2 z_2)$ -> redefine mi? to absorb the divergence and take me to be finite -> renormalized vertex! $T_{R}^{(2)} = Z_{\delta} T^{(2)}$

Combining now equations (5), (8), (10) with (*) and (**) we see: $T_{R}^{(2)}(0, m^{2}, q) = m^{2},$ (5) + (**)

$$\frac{\partial}{\partial K^{2}} \left[\frac{\Gamma_{k}}{R} \left(K_{1}, m^{2}, q \right) \right]_{K^{2}=0}^{-1} \qquad (10)$$

$$\frac{\partial}{\partial K^{2}} \left[\frac{\Gamma_{k}}{R} \left(K_{1}, m^{2}, q \right) \right]_{K^{2}=0}^{-1} = q \qquad (8) + (*) + (* *)$$